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(m) W m ¥ | % E | W\ Y| HE W\ ¥ HE

No. 20

21 20. 000 0.0 0.0 0.0
22 20. 000 0.0 0.00 0.0 1.5 0.75 15.0 2.1 1. 05 21.0
23 20. 000 0.1 0. 05 1.0 1.2 1.35 27.0 2.3 2.20 44.0
23+ 2.500 2. 500 0.1 0.10 0.3 1.2 1.20 3.0 2.3 2.30 5.8
24 17.500 0.3 0.20 3.5 0.7 0.95 16.6 4.4 3.35 b8. 6
25 20. 000 1.2 0.75 15.0 0.2 0.45 9.0 7.1 5.75 115.0
26 20. 000 0.1 0. 65 13.0 1.2 0.70 14.0 1.6 4. 35 87.0
27 20. 000 0.0 0. 05 1.0 1.6 1.40 28.0 2.1 1.85 37.0
27 + 17.950 | 17.950 0.2 0.10 1.8 0.3 0.95 17.1 5.7 3.90 70.0
28 2. 050 0.2 0.20 0.4 0.3 0.30 0.6 5.7 5.70 11.7
29 20. 000 0.1 0.15 3.0 1.6 0.95 19.0 2.1 3.90 78.0
30 20. 000 0.2 0.15 3.0 0.1 0.85 17.0 8.2 5.15 103.0
31 20. 000 0.4 0.30 6.0 0.1 0.10 2.0 7.7 7.95 169.0
32 20. 000 0.4 0.40 8.0 0.0 0. 05 1.0 9.8 8.75 175.0
33 20. 000 0.5 0.45 9.0 0.3 0.15 3.0 6.0 7.90 168. 0
34 20. 000 0.8 0. 65 13.0 0.2 0. 25 5.0 7.1 6. 55 131.0
3b 20. 000 1.4 1.10 22.0 0.7 0.45 9.0 6.8 6. 95 139.0
36 20. 000 1.2 1.30 26.0 0.5 0. 60 12.0 6.9 6. 85 137.0
37 20. 000 1.3 1.25 25.0 0.5 0. 50 10.0 6.9 6. 90 138.0
37 _+ 9.600 9. 600 1.8 1. 565 14.9 0.4 0.45 4.3 6. 4 6. 65 63.8
38 10. 400 1.0 1.40 14.6 0.3 0.35 3.6 7.3 6. 85 71.2
39 20. 000 1.0 1. 00 20.0 0.3 0.30 6.0 7.4 7.35 147.0
40 20. 000 0.8 0.90 18.0 0.1 0.20 4.0 7.5 7. 45 149.0
4 20. 000 0.9 0.85 17.0 0.1 0.10 2.0 7.7 7. 60 1652.0
42 20. 000 0.6 0.75 156.0 0.2 0.15 3.0 6.9 7.30 146.0
/N g 440. 000 250. 5 231.2 2397. 1
A = m m3 m3 m3 m2
- B 440. 000 250. 5 231.2 2397. 1
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No. 42 0.6 0.2 6.9

43 20. 000 0.8 0.70 14.0 0.2 0.20 4.0 7.0 6. 95 139.0
44 20. 000 0.5 0. 65 13.0 0.2 0.20 4.0 7.0 7.00 140.0
45 20. 000 0.7 0. 60 12.0 0.3 0.25 5.0 7.3 7.15 143.0
46 20. 000 0.2 0.45 9.0 0.3 0.30 6.0 6.8 7.05 141.0
47 20. 000 0.5 0.35 7.0 0.4 0.35 7.0 6.7 6. 75 135.0
48 20. 000 1.0 0.75 15.0 0.1 0. 25 5.0 7.8 7.25 145.0
48 + 12.950 [ 12.950 1.2 1.10 14.2 0.1 0.10 1.3 7.9 7.8b 101. 7
49 7.050 0.8 1. 00 7.1 0.1 0.10 0.7 6.9 7.40 52.2
50 20. 000 0.8 0.80 16.0 0.2 0.15 3.0 7.4 7.15 143.0
51 20. 000 0.4 0. 60 12.0 0.0 0.10 2.0 7.9 7. 65 163.0
52 20. 000 1.5 0.95 19.0 0.0 0.00 0.0 8.8 8.3b 167.0
53 20. 000 1.5 1.50 30.0 0.1 0. 05 1.0 8.0 8. 40 168. 0
b4 20. 000 1.3 1.40 28.0 0.1 0.10 2.0 7.5 7.75 165.0
b4 + 13.250 [ 13.250 1.7 1. 50 19.9 0.3 0.20 2.7 7.2 7.35 97. 4
bh 6. 750 0.0 0.85 5.7 0.0 0.15 1.0 0.0 3. 60 24.3
56 20. 000
/N g 280. 000 221.9 44.7 1904. 6
A = m m3 m3 m3 m2
- B 720. 000 472. 4 275. 9 4301.7




